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1 New Keynesian Phillips Curve (NKPC)

The problem of each intermediate producer j is to maximize real profits subject to quadratic adjustment
costs in units of the final good
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the optimality condition under a symmetric equilibrium (Pt(j) = Pt, which implies Yt(j) = Yt and
Nt(j) = Nt) reads as
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where Πp,t = Pt/Pt−1.
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2 New Keynesian Wage Phillips Curve (NKWPC)

We consider the problem of a union determining the optimal wage for task i. We consider a version in
which we have two agents and there is a quadratic utility cost of change wages across periods.
Formally, the union sets the optimal wage that maximizes the (average) lifetime utility of household(s),
subject to the adjustment cost, the demand for labor and the budget constraint
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and where the utility function is given by
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Assuming the union sets the same wage/hours for each household (Nh
t (i) = Nt(i), for every h), the first

order condition is
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Noting that the relevant partial derivatives read as
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the first order condition under a symmetric equilibrium reads as
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